AMG 3200

Spare parts list

Drive units and frequency converters
AMG 3200

© 2018 XXXXXXXXXXXXXXXX | NO. XXXXXXXXXX| 2018-07



General information

This spare parts list applies to the following:

Part number Description
967857201 DRIVE UNITS AMG 3200 GX160
967857202 DRIVE UNITS AMG 3200

Use only authorized parts. Any damage or malfunction caused by the use of
unauthorized parts is not covered by Warranty or Product Liability.

Any unauthorized use or copying of the contents or any part thereof is
prohibited. This applies in particular to trademarks, model denominations, part
numbers, and drawings.

Instructions for use

This spare parts list contains no safety regulations and is merely intended to
assist in the ordering of spare parts.

For information about operating, servicing, or repairing, the relevant Safety

and operating instructions must be consulted at all costs.

Please observe the safety instructions listed in the relevant Safety and operating
instructions!



Kits @and CoNSUMADIES . . . . . . e e e e

Spare parts list
AMG 3200 . . . e

Kits
One year service Kit, HONda GX 160 . . . .. .. .. e e e



Parts Online AMG3200 Husqvarna_Orange

Kits and consumables

Service offers resume AMG3200| ltem Description
1 |PAROIL E Mission Green
PAROIL E Mission Green
PAROIL E Mission Green
Shock absorber

One year service kit

Lubricants

Main wear part

(W a T I Y P U Y ]

Preventive maintenance

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.

1



Parts Online

AMG3200 Husqgvarna_Orange

Iltem Part No. Name Qty L
1 - Drum Paroil Mission green 210 Liter/55.5 Gallon 1
2 - Can Paroil Mission green 20 Liter/5.3 Gallon 1
3 - Drum Paroil Mission green 210 Liter/55.5 Gallon 1
4 594494701 Chock absorber 1
5 - One year service kit 1

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.

2




AMG3200 Husqgvarna_Orange

Parts Online

Spare parts list AMG 3200

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.



Parts Online

AMG3200 Husqgvarna_Orange

Iltem Part No. Name Qty L

1 594329901 Engine, Honda GX160UT2 SXS4 SD 1 A
2(3) 594377801 Coupling 1

3 594372901 Locking piston 1
4 594618801 Shaft coupling 1
5 595198401 Frame 1
6 - Data plate (Not available separately) 1
7 - Label 1 B
8 595489701 Shock absorber 4
9 - Washer, 8.4 x 16 x 1.6 mm 6
10 - Hex head Screw, M8 x 25 mm 6
11 - Hex head screw, M10 x 50 mm 4
12 - Lock nut, M10 4
13 - Washer, 10.5 x 22 x 2 mm 8
14 595180201 Drive screw 4
15 595346201 Grub screw M6 x 10 mm 8.8 A2K 1
16 595489401 Cover 2
17 595196901 Label 2 C
18 - Screw slotted, M4 x 8 mm 8
19 - Washer, 4.3 x 9 x 0.8 mm 8

Comments for Page: AMG 3200

(L)ocal Remarks

A | Honda GX 160
B|" AMG3200 "

cl"-"

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.

4




Parts Online AMG3200 Husqvarna_Orange

Kits One year service kit, Honda GX 160

NO EXPLODED VIEW
AVAILABLE
FOR THIS BOM

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.
5



Parts Online

AMG3200 Husqgvarna_Orange

Iltem Part No. Name Qty L
1 594200201 One year service kit 1
1 594302101 Air Filter, complete 5
2 595048901 Qil plug gasket 1
3 595049101 Starting rope 1
4 594544301 Spark plug 1
5 595048801 Gasket 1

Refer to the Parts Online web page for most up-to-date information. The printed information might be outdated.

6




Any unauthorized use or copying of the contents or any part thereof is prohibited.
This applies in particular to trademarks, model denominations, part numbers, and
drawings.



	Kits and consumables
	Spare parts list
	AMG 3200

	Kits
	One year service kit, Honda GX 160


